+0061 |
@)

o oaslM)
030 00240 o |
0.0

0.001+j0.037,j0.018/(1)

0.003+j0.097,j0.047/2)

(©)/620°08'090°05+200°0

(@/L20°0F'$50°05+200°0 .
| (1)/Lzoof

_l|<|_ | | osookzooo | S
g [ (2/800°0F — ; I = 2
g PR - (2)/820°0f of
S I . 700!+
= 910'0+100'0 e 85002000
e ga PN
g2 25 ’
s g £20°0%+
(/48070 g2
x wrokoooo L < 8
T o8
9800+ N n PN SHO°0F+
gg S=|
—_t — S = =
: @ ®
& 8 g2 oy,
5 = @Looof 2 09 5070+
S S @100 .
< i H ’_ $10°00+000°0 ’_ “l “ m
S |_ . |_ (€008 1207042000 0870+
=1 Y BEPN
S 3 R S
S r s
L g )
= - Q = g
= S F ~
= = g == L9100+
< = > S35
g ] 2, I3
= = g g2 | Wor00res0 0000 -
sz : . b ()
s 2 & = — P1O0M
x z =3 =
2 g © 2g—
S N S i H g =N ’_
g . .
g e So
S g s
S = 5
& s s
S ~ gs gs
£ =) @ngoof ST 3™
3 5 = 0£0°0+ (1/900°0F€10°05+000°0 “190°01+200°0 (D/%00°0FL00°01+000°0 -
S 2 - | | | | | | ]
< = o = I = = " oo & S
g ()E10°0f9z00f+100°0 . of 1/€p0°0F680°01+£00°0 ’
= g2 |z gs
T 3= 5o 2%
m = (1)/200°0£'400°0M+000°0 3 3 5 & m L7000 L1005+ )
s L - | N g3 &g e T | {3
S= == =) W/
86001+ .0 e 2 = (1)/00°0F+10°0M+000°0
% «q.\\ 0,
Qb%e\
2 © _ (D/1€0°0€90°0+200°0 «
ol ss Ewo.e\ ! | 5
(2)/8€0°01'6L0°0f+£00°0 M zs 8 209 g I -0 BANC)
2g i 220!
=3t S3S
i ag = (/2008670012000 2008+ -
) (s500f i g2 g L | | L (3
©) 9€0°00+ ‘6L0°0+€00°0 S | | =
= | | | I Afenn .
o~ Q = I = _l ” S - - (1)/100°0F€00°01+000°0
& (1)/200°0F'700°05+000°0 83 3 -= =
= gL & 27 S5
2 (D/8g0°0f z2 2 8 8
£ w 020’0t sL00fE000 || g2 4 g8 gs
=% e | | | < 5 = =
oA Qo = | | _‘ =
B (1)/200°0F700°05+000°0 o
=] S
= . =3 =3 |_
E boools (D/zsoof 8 b
S o~ ! “LOT°0F+700°0 S3 S
g8 = | | | | 1s= 23
© = O = I = | a2
k= w (1)/£00°08'900°05+000°0 i
G .
H_i 0
°3 o U
g7 o 24l o0 B
RS} B~ 3 \ -
£ £ S5 = e’ S o
ERS TS Qg (D/LLO"OF
o 8 g3 = S2L |, '6s10M5000
= E o =27 =a <
£ 950°0F+ S =)
S lmJ @ “Iv “Iv WJw ] (D/LL007
= ° - 23 ED 6S1°0M+500°0
> I~ S= 3= ),
3 EEIE 230wl %y, 3
x T 3 @ssoof 22 oy, %11, > 900N <
™32 g2 6LO0ME000 S L U0y,
%3 = H = |
A B of (D/2€0°01'990°01+200°0
o g = g_ =4
ER-I 28 g5
3L S $8 &S (Drzzgq
23~ oy
E2c s 5% &g 200200,
= £ > = S
o £ = &8
£28 (1/5000F 110°05+500°0 (aneol - =<,
f [ o) o 2 -
s g m, “Iv “ “Iv _| 290°0+200°0 s ,wo.a+~ooo
Z & — wesoof . — o
m m, = i ‘180°0+£00°0 E5
= E s ——> .
oz % 5 o 25 (D/0¥0°0FT80°05+£00°0 LEOOF+
Z 5 oo a8 S = Ly | | | 9
HEEE ss g2 = _— — I = @
o S sq
— ragsd L (1/#00°0£'600°0M+000°0
H=Ee3 £60°0%+ EE=S 22
=)
< Ss| | (WroorE800f+e000 0L0°0F+
or ’_ | | | w
= — RN
¥ (D/110°0F€20°01+100°0
(1)/££0°0F690°0f+200°0 =43 3~
| | 52 s
| = =4S T
. =it S
L20°0F+ S g2
g2

S10°06+

0F0°05+

[EEJ WEST 30-machine System Model (Impedance Map)

Fig.5.2



